p.439,440

CO, kgC02 ! X kgm'

12-1-1
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12-1-1

CO2

1 c0,
x /1,000
Kiih 1 Kuh ;1'1 h =5 kgCOo,/1 100,
D450PS 330 0.155 6.5 14 28 1,302 2.71 4
45 50t 110 0.167 16.7 14 84 1,403 2.58 4
3 st 130 0.108 12.8 106 636 8,118 2.58 21
25t 200 0.088 16.0 3,647 | 21,882 350,112 2.58 903
50t 273 0.088 21.8 1,722 | 10,332 225,651 2.58 582
16t 100 0.153 13.9 1,770 | 8,850 123,095 2.58 318
100KVA 120 0.145 15.8 2,008 | 16,784 265,492 2.58 685
150KVA 140 0.145 18.5 3,750 | 22,500 415,227 2.58 1,071
500KVA 290 0.145 38.2 2,028 | 12,168 465,149 2.58 1,200
0.450° 73 0.153 10.2 1,22 | 7,572 76,883 2.58 198
0.8n° 104 0.153 145 2,183 | 13,753 198,942 2.58 513
235Kn 235 0.308 65.8 a0 | 1072 129,758 2.58 335
20t 122 0.153 17.0 376 | 2,369 10,196 2.58 104
10t 26 0.043 9.6 | 96,405 | 96,405 927,066 2.58 2,392
15t 235 0.075 16.0 1,031 | 1,081 16,519 2.58 43
20n/h 102 0.533 9.4 a6 | 2,204 113,358 2.58 292
2.5t 55 0.085 43 56 336 1,428 2.58 4
25.5t 92 0.085 7.1 1262 | 7,572 53,830 2.58 139
26.4t 122 0.085 9.4 60 | 2,760 26,019 2.58 67
0.8 1.1t 5 0.231 1.1 2,122 | 10,610 11,141 2.58 29
10t 250 0.059 13.4| 19,700 | 141,839 | 1,901,926 2.58 4,907
90 110n°/h 141 0.078 10.0 268 [ 1,930 19,202 2.58 50
1y 81 0.187 13.8 3,200 | 19,740 271,820 2.58 701
co, 14,562
)1: 3
3
2:
1 1.1
3:
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12-1-2

CO2 kgCO, kg x kgC0./kg
12-1-2 (0] 1995
)

[0) 0.00565 6) 7.44

() 0.00693 () 0.689

) ®) 1.782
3.1 0.1089 © 1.804
@3.2) 0.1903 (10)

() (10.1) 0.1030
“4.1) 0.836 (10.2) 0.0414
4.2) 45 0.495 1) 4.40

(12) 1.657
(4.3) 311.3
®)
.1 1.507
(5.2) 0.469
€0,/ Co/ 3
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12-1-3

12-1-3 Co
€0,
X
kgC0,/kg
8 kgCo
kg ) kqC0,/ (kgCo,
338,400 0.00565 1,912
2,386,800 0.00693 16,541
0 0.1089 0
0 0.1903 0
0 0.836 0
45 0 0.495 0
84,185 311.3 26,206,791
14,015,000 1.507 21,120,605
0 0.469 0
0 7.44 0
0 0.689 0
0 1.782 0
193 1.804 348
0 0.1030 0
0 0.0414 0
0 4.40 0
0 1.657 0
€0, 47,346,197
)1:
2 kgC0y/ 3 kgC0,/kg

- 205 -




CO, kg 1 &0, kg/!
CH kg CO,
km x CHs4 kgCHs/km  x 25
kg CO
km x N20 kgN.,0/km % 298
! kmx I /km
12-1-4
12-1-5
12-1-4
I K
1km
0.270
0.107
2
Co, CH, N,0
kgC0,/1 kg-CH,/km kg-N,0/km
2.58 0.000015 0.000014
2.32 0.000035 0.000039
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CO2

CO; 12-1-6 8
Co
Lkm co, co,
= x X x /1,000
km/ 1/km 1 kgC0,/1! Co.
( kg gLl 2
8,000 9,999 20 118,804 0.270 641,542 2.58 1,655
12,000 16,999 20 6,258 0.270 33,793 2.58 87
1,999 10 5,922 0.107 6,337 2.32 15
0. 1,757
12-1-7 co
CH, 0,
_ x X X
- /1,000
km/ km kg-CH,/km - CO.
( kg g-Lhs, 2
8,000 9,999 20 118,804 2,376,080 0.000015 25 0.89
12,000 16,999 20 6,258 125,160 0.000015 25 0.05
1,999 10 5,922 59,220 0.000035 25 0.05
CH, CO, 1
12-1-8 CO
N,0 C0,
_ x X X
- /1,000
km/ km kg-N,0/km - CO.
( kg g-Nol 2
8,000 9,999 20 118,804 2,376,080 0.000014 298 9.91
12,000 16,999 20 6,258 125,160 0.000014 298 0.52
1,999 10 5,922 59,220 0.000039 298 0.69
N,0 €0, 11
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CHa
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t X CHa kgCH4/t
CO, CHq4 kgCHs x 25
Co, CH, CH, N,0
(kgCO,/t) (KgCH,/t) (KgCH,/t) (kgN,0/t)
[kgCO,/ 1 | [kgCO/ 1 | [kgCO/ 1
_ - 150[3,150] -
R - 145[3,045] -
12-1-10
co,
x x /1,000
(kg/ ( co, ( co,
2,000 150 25 7,500
CH, 7,547
13 145 25 47.13
CO; 7,547
2-9-1 p.317




29

1/12,500




	資料１２(温室効果ガス等)
	資料１２－１ 工事中における温室効果ガスの算出方法及び排出量


